
18E 18F 19A 19B

1) 3£ = 41. 1) 14£=15 1) done 1) 13.1Q.- 2..1= 1'1£
5 5 6 2) done 7 7 7

2) 8 2) 1416.=15.1=151
5£-2~=3~ 2) 9 8 1109 . 3) 10--2-=8-

8 8 2 5 5 5 9 9 9

3) 7Jl=8~=81. 3) 151§.=16'£"=162 3Jl-1Q. = 2..1= 21 3) 13 4 9.
4) 710 -510 =2106 6 2' 10 10 5 8 8 8 2

4) 15 6 9 1 4) 45 14 31
1Q.-1£=2 4) 18.[ -10~ =8~1"8-1"8=1"8=2" 63 - 63 = 63 5) 6 6 64 4 4

5) 16 3 13 5) 5 32 37 5,,[- 3.I =21. 5) 2.1-1~=11.
24 - 24 = 24 . 40 + 40 = 40 6) 3338 8 8

6) 1.§. +1§. = .11 = 111 6) 48 7 41 21 7 14 7 6) 4.I-1..1=32
20 20 20 20 56 - 56 = 56 7) 616 -216 = 416 = 48" 7 7 7

7) Q.xl = 2... 7) 40 ~ 42 = 40 + 42 =
8~-2~=6 7) 4.§.-2~=21.=21.

7 2 14, 48 48 1 8) 4 4 4 2
40 20

5 5
8) g+.!§..= 12+15 = 42 =21 9) 3.I-1Q. = 2~ = 21 8) 5£-2~ = 3~

20 20 1 6 6 6 3 5 5 5
16.=..1 8) lx2=~ 9 7 2 1 9) 3Jl-1Q.= 2..1= 2:!.15 5- 2 5 10 10) 8-- 2- =6- = 6- 8 8 8 28 8 8 4

9) 1 5 5 9) g+~= 12+3=4 10) 512.-3.I=2£=2~'4x6'= 24' 18 18 1 11) 3~_1=3~ 8 8 8. 43 3 3
10) 3.1Q.= 3 Q. 10) 56+ 7 = 8; 8 x 4 = 32

12) 6 .I - 6 .1 = 2
10 3 7

16 8 ~ 11) 50+5=10;10x3=30 11) 710-10=710
12) 14+2=7;7x1 =7 555

11) 12x14x5=840c.u.in. 5 3 2 113) 10x 15 x 7 = 1,050cu. in. 12) 1- -1- = - =-
12) 21 x 9 x 8 = 1,512cu. in. 14) 33 x 19x 12 = 7,524 cu. in.

4 4 4 2

13) 7 x 6 x 10 = 420 cu. ft., 15) 5 x 4 x 8 = 160 cu. ft.

14) 20x15x6=1,800cu.ft.· 16) 25 x 13 x 8 = 2,600 cu. ft. full
2,600 + 2 = 1,300cu. ft. halffull

15) 1,800 x 56 = 100,800 Ibs. 17) 1,300x 56 = 72,800 Ibs.
16) 16:2, 1,8,16 18) yes

20:2,1,5,10,20 19) 1+1=£=1
2 2 2

GCF=4 1+1=£=1 (J)

17) 32 + 32 = 64 ft. 4 4 4 2 0
c

2 1 3 1+1. = 11 mi -o·18) 53"+3"=53"=6 ft. 2 2 . ::J
(J)

20) ..1+.1 = ..1+ 20 = -'-
5 1 5 5 co
4+ 20 4 1 m
-1-= 20 ="5

co
OJ



19C 190 19E 19F

1) 41.-2£ =2£ 1) 4.2.-2~ =2~ 1) 6.2.- 2.§. = 41. = 4£ 1) 251. - 121 = 13
3 3 3 5 5 5 6 6 6 3 3 3

2) 5.§.-2~ = 3.§. 2) 7ll_21. =5.2. =5~ 2) 511-.2.=5.§. 2) 13 6 7
8 8 8 8 8 8 4 777 "8-"8=8"

3) 5.1.2.- 22...= 31i = 3I 3) 5~- 4£ = 11. 3) 4.§.- 4.2.= £ = 1. 3) 81.- 4£ = 4.§.
16 16 16 8 3 3 3 8 8 8 4 7 7 7

4) 7.2.-21.=5£ 4) 9.§.=10 4) 5£=6 4) 31. = 4
5 5 5 5 . 2 4

5) 8.§.-6~=2£=21. 5) 3.2.= 4£ = 41 5) 16§.=171. 5) 17I=181.
4 4 4 2 442 7 7 6 6

6) 8.§.-1],=7£ 6) 121§. = 13..£..= 131 ' 6) 7.2.=8£ 6) 14ll=151
5 5 5 12 12 2 7 7 9 9

7) 41.-11=3 7) 1 xi =...±..=.£.. 7) I+1.=7+1=7 7) 7 6 13
6 6 6 5 30 15' 8 8 1 14+14=14

4ll- 2 1. =2 .2.=2~ ]'xl-2..-1. 1§.+1!i= 15+18 =1§.=§. 13 4 117 56 173 47
8) 8) 8) 14 +9" = 126 + 126 = 126 = 11268 8 8 4 62-12-4' 27 27 1 18 6

9) 51.-2£=3£ 9) 1x£=JL 9) ..1..+~= 4+9 =1 8) ], +1 = 1.. 1.+~ = 35 +1§. = 53 = 123
3 3 3 5 7 35 12 12 1 9 6 6 6' 6 5 30 30 30 30

523 10) done 10) 1.£. = 11 9) 8 3 1 12
10) 17--7-=10- 12+12 +12 = 12 = 14 4 4 11) done 10 5

5 4 1 12) 6 -;.3 = 2 yds.· 11) 24 -i- 3 = 8 yds. 10) 1§. < 1.§.
11) 5---=5- 20 205 5 5 12) 10x 3 = 30 ft.

7 5 2 1 13) 5x3=15ft.' 11) 32 > 2712) 8 - - 2 - =6 - =6- 14) a x s e s n. 13) 36 -i- 3 = 12yds. 72 726 6 6 3
9 x 15 = 135 sq.ft. 14) 16x 3 = 48 ft. 72 55

15) 15+ 3 = 5 yds. 15) 1 x £ = .£.. = 1.
12) 132 > 132

5 x 3 = 15 sq. yds. 2 5 10 5 13) 45 + 3 = 15 yds.
1 1 1 . 14) 17 x 3 = 51 ft.3 1 4 5"x'2 = 10 sq. mi.16) - +- =- 15) 3 x 3 = 9 ft.8 8 8

1 +], = .1§.+ 24 = 16) (1/2)(20)(4)= 40 cu. ft. 5 1 5 1 .
8 4 32 32 31.+4§.=7£

16) 8"x5"=40="8sq.ml.

40 8 1, 17)
32 = 132 = 1'4 ft. 8 8 8 17) §. +§. = 1.Q.= .§.. 1. +1. = £ (J)

7.2.-21.= 08 8 8 4' 5 5 5 c
4.§.- 3~ = 1£ = 11. ft· 8 8 5 2 25 8 33 13 . -17)

61i - 2 1. = 41. Ibs '4 +5"= 20 + 20 = 20 = 120 rru. o·4 4 4 2 . :::l
8 8 8 . (J)

18) 3 -;.3 = 1 yd. 18) 2~-1i=1.§.-11=.ibu ~
1 x 1x 1 = 1 cu. yd. 18) 125-;.25 = 5 ft. (05 5 5 5 5 . o

19) 30 x 3 = 90 ft~ -L

20) 1,260-;.45 = 8 ft. (0
"Tl


